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15138 9:30~10:45
B | & E | Rl K % /8 1 2 3 4 5 6 | X#| &5t | 1B *F
2] m WE 184k R 86 | 82 | 87 [ 8 | 8 |81 |1 |511 | 1EE
A [1]3] ™ BA B /3] 80 | 66 | 74 | 70 | 81 | 89 | 2 |460 | 1EE
P |14 ™ o KA /3] 82 | 85 | 86 | 84 | 8 | 89 |4 |514 | 1EE
15| ™ #E B2H FiEEis | 93 | 96 | 93 | 92 | 99 | 93 |14 | 566 | 1EE
19 ™ BE K= = 94.1 | 90.0 [ 933 | 959 |96.7 [90.1 | 9 |560.1 | 1EE
1{10] ™ 5% B siE) (1011 | 97.8 | 95.2 | 99.7 [101.2 [ 94.4 |21 |589.4 | 1EE
11| w | A #xTF s3] [104.9 |103.2 |103.3 [104.5 [103.0 [102.9 | 46 [621.8 | 1EIE
R EIEEIAT AT s3] [100.4 |102.9 |101.5 [103.3 [101.8 [103.7 | 35 |613.6 | 1EIE
n [L[14] M =S EX s3] [102.1 |101.1 |100.4 |101.4 [103.6 [101.1 | 30 [609.7 | 1EIE
1{15| w B s3] [103.2 |104.3 |104.6 |105.4 [105.6 [105.6 | 50 |628.7 | 1EIE
1{16] ™ KA KA s3] [103.1 |100.3 | 98.6 |101.2 [ 98.9 [101.4 | 22 |603.5 | 1EIE
1{17] M | #kE &% e [ 97.9 [100.0 | 97.2 [101.3]99.0 | 99.3 | 22 [594.7 | 2mEE
1{18] ™ fEI Bk = 100.7 |100.1 | 99.5 | 97.6 |100.8 | 96.9 | 22 |595.6 | 1EE
251%F 11:30 ~ 12 : 45
EE | 49 & | 145 K % FriE 1 2 3 4 5 6 | X#%| &5t | B *F
2l 2| ™ At FX BHEER 86 | 8 | 90 [ 8 | 83 | 81 |4 |514 | 1EE
A [2]3] ™ M| =2 K8 91 | 84 | 76 | 84 | 83 | 82 |5 |500 | 1EE
P |2]l4]| M @A B Tk IR 78 84 87 79 73 85 2 | 486 | 2mB
215 M P C S INT R 86 89 90 89 88 88 7 | 530 | 2mB
2l 8| w sz BRE  |101.3 [100.6 [102.8 [104.6 [104.1 [101.6 | 37 |615.0 | 1EE
2l 9| M ER 88 | BEEEk [ 97.8 | 97.9 |100.6 | 982 | 97.7 [95.1 |17 |587.3 | 1EIE
2|10| M B ¥E | BAMRREK | 98.3 |102.4 [102.5 [102.6 |101.3 [102.1 | 37 |609.2 | 1EE
2|11 w NN BEE 997 [97.2 [101.7 [ 99.2 | 98.1 | 98.7 | 24 [594.6 | 1EE
2|13 W | AE #£B% | FL%kA (1023 [ 981 [100.0 [100.5 | 99.8 |102.9 | 25 [603.6 | 2[EE
A 214 M PR RS FI BB [102.6 [100.0 [101.4 |101.0 |102.2 | 99.7 | 32 [606.9 | 2[EIE
R [2]18] M| AAR X $iE 104.0 [101.3 [102.8 [102.1 |103.0 |101.2 | 41 [614.4 | 2[E1E
2116 M | o fLAES | BEESK [ 959 [99.7 [98.0 [99.3 | 98.9 |100.3 | 22 [592.1 | 1EE
2|17 W | ®ab #Hp#E | =HESK [102.2 [101.6 [103.1 [104.2 |104.9 |1025 | 38 (6185 | 1EE
2|18 W | Ak FaHx | =EHESK [103.3 [ 99.4 [100.9 [100.8 |104.3 |102.8 | 36 [611.5 | 1EE
2119 M| var vk 5 ) 81.0 | 76.6 | 845 [84.9 844 |87.1 | 5 |4985 | 1EE
359Ef 13:30 ~ 14 : 45
EE | & E | 1R K % FilE 1 2 3 4 5 6 | X#| A5t | f® &
AP |3 4] M WR & RRH 87 | 87 | 89 | 8 | 8 | 8 | 3 |521 | 2mE
32| M IR Rk FIEEH [101.8 [100.4 [101.6 [100.8 |103.9 [100.4 | 34 [608.9 | 3EE
35| w Mz BRE  |103.3 [103.4 [102.0 [101.7 [101.9 |102.2 | 31 |614.5 | 2[EE
316 M | i fLAEE | BEESK | 965 [ 96.3 [100.9 | 98.0 |104.2 | 99.3 | 28 [595.2 | 2[EE
37| w RO B 5 ) 94.7 | 965 [98.3 [93.3 [93.5 | 95.2 |18 |5715 | 1EE
31 8| M 5% EY 5 ) 97.3 [ 93.6 [ 935 [95.7 [92.0 | 945 | 15 |566.6 | 2[EE
39| M %)l E | BMEsRS [101.6 [101.2 [101.3 [100.8 |102.5 |100.7 {345 [608.1 | 2[EIE
3/10] w = s3] [102.5 |103.9 |105.7 |103.3 [102.2 [104.6 | 45 |622.2 | 2EIE
3|11 M [TV $E 100.9 [ 95.9 [101.1 [100.1 | 97.8 |101.6 | 25 [597.4 | 2[EE
R [3]13] M =iE 2 E ) 99.0 {101.8 [101.4 [101.1 [100.0 |100.7 | 26 |604.0 | 2[EE
314 w | BA #ExTF %) [104.2 |104.0 |101.9 {103.1 [104.0 [103.7 | 43 |620.9 | 2EIE
3[15( w AT 5 %3] [104.0 |100.7 |103.1 |104.5 [101.0 [101.8 | 39 |615.1 | 2EIE
3l16] M KA KA s3] [103.1 |102.8 |100.0 {101.1 [102.7 [102.3 | 35 |612.0 | 2EIE
(17| w (NGIRTT: BEE 1006 [101.1 [ 99.9 | 99.6 |101.0 | 94.8 | 26 [597.0 | 2[EIE
sfig| w| wm &F ° 727 1025 [102.1 [102.7 [103.2 {1024 [1005 | 36 [613.4 | 2@




